Comments Program 4 or 4a
Note, you have a grade for either Program 4 OR Program 4a but not both!

	-1
	1. when I typed in a % b,  your program output a b %.  It didn't recognize that % was not a legal operator. 

	-1
	2. Your instructions did not tell me that I had to enter a blank line to end the program.  I guessed and it worked but you should tell me.  However, if I run it from the command line using a pipe, I'll get an error because my input file doesn't have a blank line

	
	3. The Ada case statement we discussed in class after program submitted would probably make for more readable code

	-5
	4. Your program doesn't handle parentheses

	-5
	5. Your program doesn't handle multiple input strings

	-1
	6. when I typed in a % b,  your program output a% b.  It didn't recognize that % was not a legal operator.

	
	7. you have several spelling errors (should be):  underflow, notation, pops

	
	8. code is unreadable

	
	9. when I typed in (a+b)) which causes UNDERFLOW, your program bombed with an unhandled exception.

	-2
	10. You don't have enough comments. In particular, you don't explain your use of $

	-1
	11. You don't have enough white space.  You should separate each of your if statements.

	-3

	12. when I typed in (a+b)) which should cause UNDERFLOW, your program added the extra parenthesis at the end of the output string.

	-1
	13. Some of your lines are so long that your printout has wrap-around.  You should print your program in landscape form  or shorten the lines.

	-1
	14. There is no reason to output the blank line that ends the program.

	-1
	15. It's nice that you recognize A and B as erroneous characters but you shouldn't process the expression, you should output a message.

	-2
	16. It's nice that you recognize %  other non-operators but you shouldn't process the expression, you should output a message.

	
	17.  When I typed in a^b, your program bombed with an UNDERFLOW error.

	-2
	18.  You do not have enough comments

	-2
	19. When I typed in A+B, your program output  + A 

	-1
	20. Your comments are a bit brief 

	-1
	21. Your indentation isn't quite right

	-2
	22. Unlabeled output


